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1 RENVEE
(1) R_E 116,119 210,857 A 94,738
(2) 7E®E 14,947,687 21,284,982 A 6,337,295
(3) KRIXAZE 58,042 59,295 A 1,253
RBEESET 15,121,848 21,555,134 A 6,433,286
2 EEEE
(1) EXRBE
@ EARBE
EARBESE
(2) BHEEE
@ BEFLHFEILS 16,385,555 15,585,555 800,000
@ RlRFEILE 19,000,000 19,000,000 0
BHEEESE 39,385,555 34,585,555 800,000
(3) FHEEEE
@ FEMHS 0 0 0
AREEEESE 0 0 0
BIEEESE 35,385,555 34,585,555 800,000
BESE 50,507,403 56,140,689 A 5,633,286
I &E0OH
1 RENAE
(1) XRiL& 828,546 71,472,196 A 6,643,650
nBaEEst 828,546 71,472,196 A 6,643,650
2 BEAE
(1) EAZE 0 0 0
EEREEF 0 0 0
BEaE 828,546 7,472,196 A 6,643,650
Il IEBREAEEDER
1 —HRIERRBAEE 49,678,857 48,668,493 1,010,364
GOLEXRBE~DIELEE) 0 0 0
OBREEE~NDFTHER) 39,385,555 34,585,555 800,000
IERRBAESET 49,678,857 48,668,493 1,010,364
BERVIEKRMESST 50,507,403 96,140,689 A 5,633,286




